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A.CED.A.1: Exponential Equations 2

1 What is the value of X in the equation
93x+1 — 27x+2 9

1)12)%3)%4)%

2 What is the value of X in the equation
81x+2 — 275x+49

2 3 4 4
D1 22391791
3 Solve for x: 9" =27
4 Solve algebraically for x: 277" = 9*

5 Solve algebraically for x: 27* = 9**?

6 Solve for x; 27* =9>*!

7 Solve for x; 27*"* =9*~!

8 Solve for x: 9% =27*""

9 If9**! =27° what is the value of X?

10 Solve algebraically for all values of x:
5X

81X3 +2X2 — 27 3
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Answer Section

1 ANS: 4
93x+1 :27x+2 )

(32)3x+1 — (33)x+2

36x+2 — 33x+6

6X+2=3Xx+6
3x=4

X =

ST

REF: 081008a2
2 ANS: 4

81x+2 — 2-?5x+4
log 8T+ =1og 27°%*
(x+2)1og8l =0x+4)log 27
(x+2)log 81 _
log 27

Sx+4

%(x+ 2)=5x+4

4x+8=15x+12

11x = -4
4
r=—-—
11
REF: 060303b
3 ANS:
3
2

REF: 068515siii

811{-!—2 = 2-?SK+4

(34):“-2 - (3\3)5}!’+4
11x=-4
4
Xx=——
11

|
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4x+8=15x+12. #=-3636364 2v=1327.3195 ..
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273K+1 9"-?{
log 274 = 1og 9%
(2x+ Dlog27=4x10g9 Plotd Plot2 Plot2
2wl b wmz? <2>¢+1>
(2x+Dlog27 _, 277 =9 NI
————— =4z z
logg (33)23&1 (3 )47{ :3;;
b =
%. E(Ex +1) = 4z Fred = g0 W= Er Y S AT
2 6x+3=8x
2x+1= 8—": 3
o
bx+3=8x
3
x=—
2
REF: 060422b
ANS:
2-?:\' - 9x+2
WIHOOH
log27% = log 9%+ 37% = g¥+ Emég;ga
scl=
Hog27=(x+Dlog? - (pyr - 37y Uhs=Teo0nes
4. I:ng? =x+2 L R 1 s T R Er%gé;?
9
0g3 Ix=2x+4
2 x+2 x=4
2
3x=2x+4
x=4

REF: 080922b
ANS:

REF: 069012siii
ANS:

REF: 019508siii
ANS:

REF: 060005siii
ANS:

REF: 080106siii
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ANS:

5X

g1 Zo7”

PATARE 3 %
() =)

34x3+8x2 _ 35
47 +8x* —5x =0

X(4X* +8x—5)=0
X2x-1)(2x+5) =0

REF: 061239a2
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